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Remind the following types of in�nite trees.

Given a tree p remind that stem(p) is the longest node in p compatible with all other
nodes in p.

� p ⊆ 2<ω is called a perfect tree i� for every s ∈ p there exists t ∈ p such that t ⊇ s
and ta0, ta1 ∈ p (such t is called a splitting node).

� p ⊆ 2<ω is Silver i� p is perfect and for every s, t ∈ p, with |s| = |t| one has
sa0 ∈ p⇔ ta0 ∈ p and sa1 ∈ p⇔ ta1 ∈ p.

� p ⊆ ω<ω is called Miller tree i� p is perfect and for every s ∈ p there exists t ⊇ s
in p such that there are in�nitely many distinct nk ∈ ω such that for all k ∈ ω,
tank ∈ p.

� p ⊆ ω<ω is called Laver tree i� p is perfect and for every t ⊇ p extending stem(p)
there are in�nitely many distinct nk ∈ ω such that for all k ∈ ω, tank ∈ T .

N.B.: In all questions in the following three exercises please provide an argument for
either a positive or a negative answer.

Exercise 1. Let X be any comeager set.

� (2 points) is there a perfect tree p such that [p] ⊆ X?

� (3 points) is there a Silver tree p such that [p] ⊆ X?

� (3 points) is there a Miller tree p such that [p] ⊆ X?

� (4 points) is there a Laver tree p such that [p] ⊆ X?



Remind the Lebsgue measure µ on 2ω and ωω be de�ned as follows:

� let m be the measure on {0, 1} such that m({0}) = m({1}) = 1
2 and then put µ be

the corresponding product measure on 2ω.

� let m be the measure on ω such that m({n}) = 1
n and then put µ be the corre-

sponding product measure on ωω.

Exercise 2. Let X be any set with µ(X) = 1.

� (2 points) is there a perfect tree p such that [p] ⊆ X?

� (3 points) is there a Silver tree p such that [p] ⊆ X?

� (3 points) is there a Miller tree p such that [p] ⊆ X?

� (4 points) is there a Laver tree p such that [p] ⊆ X?

Let δ be the so called dominating topology on ωω, i.e. the topology generated by the
following basic open sets:

[t, f ] := {x ∈ ωω : x ⊃ t ∧ ∀n ∈ ω(f(n) ≤ x(n))}

where t ∈ ω<ω, f ∈ ωω with f ⊃ t.

Exercise 3. Let X be any set comeager w.r.t δ.

� (2 points) is there a perfect tree p such that [p] ⊆ X?

� (3 points) is there a Silver tree p such that [p] ⊆ X?

� (3 points) is there a Miller tree p such that [p] ⊆ X?

� (4 points) is there a Laver tree p such that [p] ⊆ X?


